Name: Date:

Which one doesn’t belong?

The quotient of three times The square root of the difference
a number and five of nine and a number
—0

A number times itself The product of a number
equals one hundred and another number sqaured

| believe that does not belong because...
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Key:

WODB activities do not have a single correct answer. These activities are designed to
be interpreted in a variety of different ways in order to spark deep mathematical
thinking and discussion (in small groups, whole class, or both).

Learn more at www.mashupmath.com/blog/wodb
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